PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
23rd July 2016, 12:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Pandit Ravi Shankar plays this instrument / ufsd ¥ T T dred CIKEIG] %’

* Sarod / WRIG

e Sitar / RIAR

* Santoor / UX

e Sarangi / IR
Correct Answer :-Sitar / RIaR
2)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey E_]ﬁl‘E
sl foT T Y=l vd Fremul & TR o 9E 21

Statements: / DYA:

All houses are bungalows / 93 TR FQ &
Some bungalows are flats / $9 CUGR S
Conclusions: / fpd:

I. All houses are flats / I. 94l TR wic @

II. All bungalows are houses / II. ¥ Fd TR &
® Only conclusion | follows / Had freed 1 Aeadr %
® Only conclusion Il follows / Wﬁw& n frpean %
® Both conclusion land Il foIIows/E-']T-I-T foreed 1 Gﬁ? 11 e %
® None of the conclusion I or Il follows/ﬁl'ﬁﬂﬂf IFTIIH A 'ﬂﬁ"&g q’('?f Freaar %
Correct Answer :-None of the conclusion I or Il follows / fepd 1aTIIH A aﬁ'é T'Iﬁ Freaar %

()



3)
Question Stimulus :-

Who is the first Indian male junior badminton player who was ranked No.1 in World Junior Rankings in 2014? /

Ugdl YR T3 SR deftied fIars! #19 g, ot 2014 & fay Sforar I & 5av 1 WIF W A
® Chirag Sen / RRTT T4
* Aditya Joshi / 3fecd =it
e Alap Mishra / 3TaTq fiy
e Mithun M / fIYT TH
Correct Answer :-Aditya Joshi / 3fTfeea STl
4)

Question Stimulus :-

In which year was the Citizenship Act passed in India? / HIRd Y fpa af Arifyearn srfbf~raw wifva fean
T Y1?

® 1950
* 1960
® 1948
® 1955

Correct Answer :-1955

5)
Question Stimulus :-

If Tuesday means a world war, and it’s not Tuesday today, then it's not a world war. /

gfe ATeaR P Aaad T fay g5 ¢, 3R 31 AraarR 781 §, a1 U8 vo {9y g 181 71
* True / ?Té’f
* False / TTdd
e Maybe / G T&dT 7
* Irrelevant / 3RS
Correct Answer :-True / Tgl

©)



6)
Question Stimulus :-

Who was the first ruler of the Bahmani kingdom? / a%n'—ﬁ TATYTSY & tls‘é} UMD P A?

Md Tughlaq / WG qIAH

Ala-ud-din Bahman Shah / 3[€ll-3¢-3I 989 8

Ismail Mukh / SHISH 9
® Mahmud Gawan / HgHg 9+
Correct Answer :-Ala-ud-din Bahman Shah / 3@T-3¢-SI 9gH TS
7)
Question Stimulus :-

‘Soft’ is related to ‘sponge’ in the same way as ‘Sharp’ is related to / ‘HdaH’ Tafda % e
¥ I yoR A o avE 09T H96fta g 399

* Blunt / $fea

® Knife / ATH

® Cut / PIcHl

e Edge / fpART
Correct Answer :-Knife / dIp
8)

Question Stimulus :-

Where do you commonly find Paradise Flycatchers? / amq?ﬁvww' ST a?TSTETrHﬁITg%ﬁR
(37g9) U §?

e Panna Reserve Forests / UAT f¥ord a9
® Sanjay Reserve Forests / JoId ford 9
® Shivpuri Sanctuary / ﬁa'g'?r STHIRTY
e Kanha Reserve Forests / ®T-8T f¥oId a1
Correct Answer :-Shivpuri Sanctuary / ﬁfﬁgﬁ STHARWY

(4)



9)
Question Stimulus :-

The river Sutlej, on which the Bakra Dam has been built, originates from / Hd ¢Sl T-Iﬁ, faw HTEST T BT

frrmfor fear mar 3, __ & e 31
® A spring in Verinag / IR H o
® Near Bara Lacha Pass in Lahul / Fﬂﬁﬁ ¥ IRTAT=N 3% > U
* Rakas Lake in Tibet / forssa & vooa i@
® Mansarovar Lake / ATTHRIGR Eﬂﬁ

Correct Answer :-Rakas Lake in Tibet / fssd # 399 sita

10)
Question Stimulus :-

Which was the lengthiest amendment to the Constitution of India? / HIRd & e & S9T S 9y

forega ur?
e 24™ Amendment / 24 & TR
e 30" Amendment /30 § TN
o 42" Amendment / 42 d TRNYF
o 44" Amendment / 44 T TR

Correct Answer :-42"9 Amendment / 42 d TN

11)

Question Stimulus :-

Which is the first Indian state to see the sun rise? / ?I{ﬁa'q @ aTeT I Ugdl URd RIS CaE Kl %?
® Mizoram/ ﬁlTrﬁTq
® Arunachal Pradesh/ 3SUTTIA USRT
® West Bengal/ ¥y dre
® Maharashtra/ TIFRTg

Correct Answer :-Arunachal Pradesh/ HWH%-?I’

(5)



12)
Question Stimulus :-

Anil’s mother’s brother is the only son of Amar’s mother’s father. How is Anil’s mother related to Amar? / 3ff<ra &1

AT BT UTS, 3AR B 9T & a1 1 seaar I g1 ifva 9 97 3R 9 {5 R ddfta 82
e Mother /AT
® Sister /dgH
e Aunt/ 3fict
® Grandmother / TSI

Correct Answer :-Aunt / 3fict

13)
Question Stimulus :-

Igbal award recognizes excellence in . | IPATH YREP IR o Jep edl & ﬁ‘l’Q’ %CIT SITdT %I
® Urdu Ghazal / Gﬁm
® Urdu Literature / 3§ '\’IT%W
® Folk Arts / TH-PATT
® Urdu Shairi / 3g AT

Correct Answer :-Urdu Literature /B'é?l'ﬂ%?q

14)
Question Stimulus :-

A, B, C, D and E are five rivers. A is shorter than B but longer than E. C is the longest
and D is a little shorter than B and a little longer than A. Which is the shortest river? /
A, B, C, D 3R E Ul Aifeai §1 A, B ¥ B¢l 8 W E A @l 81 C Ta9 @dl 3 3R D, B ¥ 4IST |1 8 8k
AT IS &l 71 IS B A8 B o §2

* B

e C

(6)



Correct Answer :-E

15)
Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below are four drawings of boxes with

designs. When folded, which box will it be?/ET?ﬁ AR W Wﬁﬁ-ﬁm u'\fﬁ:\—:nsﬁa?muﬁm G
forar te go fe@rd) 3] R fEwmsa areh gol @ IR ST39 €] Wits $A W, B AT 94T g2

e ]

]

Correct Answer :-

16)
Question Stimulus :-

Which of the following districts does NOT belong to Bhopal division? / frrafaf&a forel & & #19 a1 foren
YTUTel HHTT $T 181 87

Dewas / %am
Rajgarh / XTSlTg
Vidisha / fafc=m
Sehore / ?ﬁﬁ'\"

(7)



Correct Answer :-Dewas / ¢ard

17)
Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / 19 ¥ T, R g foa
T g, o @ 39 fodl veR | 91 & ofik 919! T 3T 8| 3MeNT ardl JTd BIfed|

* Eye / 3TE

e Tongue / Shte

e Ear / oM™

®* Nose / AT
Correct Answer :-Tongue / W19
18)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe gﬁm
wil foT T Byl vd Freeul & R W 9E 81

Statements: / dUH:

Some gases are liquids / $9 T @R yerd §
No liquid is solid / ®I§ a%a Uard 31 781 §
Conclusions: / fAwsd:

I. Some gases are solids / I. $9 g 39 %
II. No gas is solid / II. ﬁ'&‘ g 3 -'-Iﬁ%

® Only conclusion | follows / Had freed 1 Aeadr %
® Only conclusion Il follows / WW& n freadn %
® Both conclusion I and Il follows / Il fswd I 3% 11 Fiwad &
® None of the conclusion l or Il follows/ﬁlwﬁf IGTII® q aﬂé T-I"(ﬂ' Freadan %
Correct Answer :-None of the conclusion I or Il follows / Fepd1arIIH A 'ﬂﬁ"f qﬁ Freddar %

19)

(8)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawrea ﬂﬁl’(‘,ﬁﬁ qb Pl Eﬁ'
¥ e fou v u= & 99 @

It is not True that both Swapna and Ratna are selected / U8 I T8) & b TauAm 3R v Al
ST Ig9 g3 8

® Swapna is selected or Ratna is selected / XUl WWEGH%HTWWWEGH%
e Swapna is selected and Ratna is selected / TIUHT &1 9I 3T § 3R IAT BT TIT 3T &

®* Swapna is not selected and Ratna is selected / XUl WWT@E&T%Gﬁ?W DT TqIq
GEI

®* Swapna is selected and Ratna is not selected /WWWE&T%%WWWH@T
GEI

Correct Answer :-Swapna is selected or Ratna is selected /U ST TI §3IT § AT IAT BT
ELE T

20)
Question Stimulus :-

A farmer grows 3 crops in rotation — A, B, C. A is grown between the months Jan-June, B between May — September
and C between August-December. Each crop takes 3 months from sowing to harvesting. At a time only crop can be

grown. / U@ fpar Frafira emada & 3 GO STEI R - A, B, ¢ A TG} A A & o, 18 -Rraar &=
B, 34 -foxiaR & = ¢ IS WIelt 81 U O H gaTs | Hers & (61U 3 T &d & | T 99 H had
TS Bd SIS oIl Thal g

If the farmer wants to harvest C in the month of December when is the latest he can sow A? / ﬂﬁﬁ?\‘fﬁm ®

HE A ¢ P BT BT I18d1 8, a1 TaH 59 AgA A 98 A B 9 b1 82
° April/\’rl'aﬁ
* May/¥H3

® June/S[d
o July/aTsg

Correct Answer :-April / 310d

21)

Question Stimulus :-

Who is called the father of civil services in British India? / fafemr yra & fufae Jarsit & fUar CaE| mﬁ'

©)



* Lord Cornwallis / @IS ®i-aiierd

e Lord Hastings / @8 af&wq

e Warren Hastings / a9 89

®* Lord Wellesley / s dad
Correct Answer :-Lord Cornwallis / @18 ®Hale™
22)

Question Stimulus :-

Which sportsperson is known as “The Wizard”? / 5 m 3t «fe EEER el SIldT %?
® Vishwanathan Anand / ﬁ‘qameﬁ 3MHg
® Sachin Tendulkar / I a_g',?ﬁﬂ'
* Saina Nehwal / TR Agard
® Dhyan Chand / %[QT;T?I_C{
Correct Answer :-Dhyan Chand / ¢@TH Ug
23)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 faweu gHU

Wit 3T U Y=t vd fFremsl & N ¥ 9t
Statements: / BYH:

No locket is pink / aﬁs" dlbe WT&&%
Some chains are lockets / $© 39 dlPbec @
Conclusions: / fp:

I. No chain is pink / 1. Eﬁ's‘ aqﬂ?l'lé’r%
II. No locket is red / II. B dicbe @Td 8l &

® Only conclusion I follows / Fad ey 1 e %
e Only conclusion Il follows / Faa forewy 1| frpaar @
® Both conclusion | and I foIIows/?.‘ﬂT-ﬁ e 1 3R 11 FPrpad %

(10)



® None of the conclusion | or Il follows /ﬁ'ﬁlﬂf IGTII® ﬁ 'ﬂﬁ"&‘ qé’f Freaar %
Correct Answer :-None of the conclusion I or Il follows / f-Isd I a1 IT # A ?ﬁg T3 Frpadar g

24)
Question Stimulus :-

Andhra Pradesh Reorganization Act, commonly known as Telangana Act was passed in the year ./ 3T

wew gta SR, wrar=aa: dema sififreg & wu d 3rd su ad uiia fear mar ar___.
® 2013
® 2015
* 2014
® 2012
Correct Answer :-2014
25)

Question Stimulus :-

Who is the Lieutenant-Governor of Pondicherry? / Tifead & IU-ISUUT B %.?
® V Narayanasamy / at ARTIUATHT
® Najeeb Jung / EEICASH
® Kiran Bedi / fpRor 9t
® Lt. General A K Singh / @Ue-e 9-Rd T & Rig

Correct Answer :-Kiran Bedi / fo301 9}

26)
Question Stimulus :-

Which of the following pairs of professions represents the professions of husband and

wife? / g @ <19 It H ST ufa-uelt & sgam o1 ufafAficg sl 82
e Pharmacist, Architect / 3Ny ﬁa’_xﬂ, Rreuer
e CA, Architect / 94! d@ToR, RueR

e Engineer, Pharmacist / 3ifidr, iy fagar

(11)



e CA, Engineer / I¢! d@THR, fHTdT
Correct Answer :-CA, Architect / Idl d@THR, RcaeR

27)
Question Stimulus :-

A farmer grows 3 crops in rotation — Rice, wheat and Jowar. Rice is grown between the months June-Nov, wheat
between Feb — July and Jowar between Oct-March. Each crop takes 3 months from sowing to harvesting. At a time only

one crop can be grown. /wmﬂﬁvﬁﬁra{mﬁﬁswﬁm%wﬂgaﬁ?mlw AdeaY
eI & i, Bradt 3R ars & S g, Sragar-ATd & s saR SRl St %lmwﬁ gaTs 9 Hers
& T 3 HEH @4 & | U 99 H Pad U B IS o gl gl

Farmer starts in the month of January by sowing Jowar. If there a month gap between each crop, when would Rice be

harvested? / TFT SAIR & gaTs SR & WEH A IR HdT 8| T TS BId & §9 U A1 &1 3iavTd
2, B9 ITad DI HeTg DI o bl 82

° September/ﬁ'ﬁlﬁ?
® August / 3T
® November / Tdax

® October / Sdgd

Correct Answer :-November / Tdd

28)
Question Stimulus :-

Pandav Caves are foundin____ ./ uisd '{FFIB'ﬁ _'l}l urg ST %'l
® Morena / '537"
® Umaria / SHIAT
® Bagh /4T
® Pachmarhi / TEHE!

Correct Answer :-Pachmarhi / UGHE!

29)
Question Stimulus :-

Who is the founder of Infosys? / g:l"ﬁﬁ:l'\q P HRITUP P 872

(12)



® Narayan Murthy / STIRTIUT Tjﬁ'f
® Azim Premji / 3oITH Uil
® Laxmi Mittal / SI&HY firaer
® Mukesh Ambani / 'ﬂaﬂT ST

Correct Answer :-Narayan Murthy / STRTI0T Jfef

30)
Question Stimulus :-

The time gap in between two sessions of Lok Sabha cannot be more than - / e JUT & a T & S

AHATART 399 SHfe T § WP 3
° 6months/6'ﬂ'&ﬂﬁ
* 6weeks/68H
° 3m0nths/3'ﬂ'€|’ef
® None of these /Eﬁﬁﬂﬁgqﬁ

Correct Answer :-6 months / 6 Hgl4

31)
Question Stimulus :-

The first governor general of India was. / HIRd P UYH IR kA Q_
® Warren Hastings / aRA %%T\‘-T
® Lord Curzon /@IS W
* August Hickey / 3T fga®!
® Sir Eyre Coote /IR 3IUXY PC
Correct Answer :-Warren Hastings /aﬁq %%T\‘T
32)
Question Stimulus :-

Shahid and Purnima are standing in queue for a railway ticket. Shahid is the 7" from the counter and the 27" from the

end. Purnima is the 12th from the end. How many people are ahead pf her? / 'Q'IT%E qa tﬂﬁ"ﬂ W fepe & ﬁl’E
e Ui W @S €] Mg Frder AV 741 v 3ifew SR § 2741 8] yfofar sifow Bk ¥ 124 8] S9F 3m

(13)



fora=t T 32

e 21

° 22

® 20

e 23
Correct Answer :-21
33)

Question Stimulus :-

Sushil’s room is at left from my room and Puneet’s room is at my right. If Pankaj lives in front of me, then Sushil is at

__of Pankaj / TN T HHRT AR FHR A 1Y IR § 3R THTd BT HHI A g1 aRw | afe vopet A Ar8
gl e, A gMaudT & __ aRwb gl

® Left/ dT¢

® Front /ITHA

* Right/qlfg

e Back/W®
Correct Answer :-Right / GIfigH
34)

Question Stimulus :-

The oldest football tournament in India is / UIR® & TG Wmﬁ’ﬁﬁﬁ?%
® The Durand Cup / 38 FJ
® The Indian Soccer League / YR W?ﬂ'ﬂ
® The Santosh Trophy / ?I?Prcrg“ftb"r
® The Federation Cup /ﬁ"—@ﬁ'ﬂq?ﬁu

Correct Answer :-The Durand Cup / 88 PU

35)

Question Stimulus :-

(14)



In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

fFafafad vy 3 e Irde w0 § U< $1 FaRIT FI 3R ISP T1g i fr e fawen d A g9 Iuge
3IHH BT TIT BN
1. Elephant 2. Cat 3. Mosquito 4. Tiger 5. Whale
1. g1t 2. o 3. 73T 4. 99 5. A
e 1,3,54.2
e 2,51,4,3
* 3,24,1,5
e 5,3,1,2,4
Correct Answer :-3,2,4,1,5
36)
Question Stimulus :-

Anitha, Mahima, Rajan, Latha and Deepti are five cousins. Anitha is twice as old as
Mahima. Rajan is half the age of Mahima. Anitha is half the age of Deepti and Rajan is

twice the age of Latha. / 31, afgar, I, @ur iR Srudt ufer ==:Y s €1 aifrr, afewr & su &
%ﬁﬁa@%lwaﬁwmﬁaﬁ%ﬂ%l fryr 3t 37 dueht I aneht § MR IO B I q@T I S
|

Who is the oldest? / TG ST DI 82
e Deepti / diudl
e Latha / 9Yl
* Anitha / 3ifyr
®* None of these / ST-I'EI'@ ?ﬁéﬂ?{

Correct Answer :-Deepti / diudl

37)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawea gﬁl’l!,\_rlnbf qH B i
A R o 1T By & T B

If you are watching a serial, then you are not watching a movie. / 3R arrqwﬂmaﬂ%w

3@ I3 &, A 3 fiped T5f c@ IR B

(15)



* If you are not watching a serial, then you are watching a movie. / TR 34 T

YRTATR® T8l W TR &, 1 39 e T @ &

e If you are not watching a movie, then you are watching a serial. / 3R 3y fihed T8t

W I3 §, A1 3T TP YRTAT0P 39 35 5|

e If you are watching a movie, then you are watching a serial. /WWW%@Q’%%’,

a1 319 T YRTAIR® 3@ 38 B

e If you are watching a movie, then you are not watching a serial. / 3 R 3y fFed ¢

TR §, Y 3 yRTaT g 81 3@ I8 &

Correct Answer :-If you are watching a movie, then you are not watching a serial. /

3R 39 fired 3@ 32 &, a1 3 yRTaTfe® 8 3@ 7R 2l

38)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faeey ﬂﬁ'l"!,\_rﬁ L2 R A
TR TNFEH I IAAE :

It is not True that both Ramya and Soumya are intelligent./ I8 T T8l ¢ % 3T 3R T g1
ISR g1

* Ramya is intelligent or Soumya is intelligent. /wmm%mﬁwmwﬁl
e Ramya is intelligent and Soumya is intelligent. /WW%GWWW%I

* Ramya is not intelligent and Soumya is intelligent. /Wﬂwqﬁééﬁ?m
TAHER B

* Ramya is intelligent and Soumya is not intelligent. /WW%@?WW
TR I
Correct Answer :-Ramya is intelligent or Soumya is intelligent. /WW%HT@WT
IUSER 81

39)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ, tl?ﬁ Gl tla & o foredt
TR A P Ja¢ 7| 7 fawen & I @var e g+ et AW ug & a1y 3 ueR @1 9§y 3]

Trouble : Safety :: Freedom : ? / THTad : & :: IATATGI @ ?

® Independence / TaAAdT

(16)



* Slavery / T@THT

® Liberty / QC

e patient / AT
Correct Answer :-slavery / @it
40)

Question Stimulus :-

The States Reorganisation Act came into effect on : / ITY gﬂﬁﬁ_v{ Srftfaay _?b;f UHTT H 3T AT
® October 2, 1955/ 2 3[dgdy, 1955
® November 1, 1956 /1 W, 1956
® August 15, 1959 / 15 33, 1959

® None of the above /?F'Iﬁﬁﬁ'&; ‘J-ﬁT'I'Eﬂ

Correct Answer :-November 1, 1956 / 1 TdaR, 1956

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

If 303C x 207 = D2B624 Where B, C and D are representing different numerals; What is the value of ‘D’ ?/
gfe 303 x 207 = D2B624 STET B,C 3R p fAfH JWrid € @ ‘D’ BT A T ENIT?

e 1
e 3
6
* 5
Correct Answer :-6
2)
Question Stimulus :-

What is the third proportional to the numbers 9 and 45? / 9 3R 45 @i &

TR o B9 9 82

e 230

(17)



° 220

°* 225

e 235
Correct Answer :-225
3)

Question Stimulus :-

In a certain code, INTIMATE is written as NIITAMET, how is MASTER coded? / fo<tt @ g
PIS #, INTIMATE &I NIITAMET for@r &1 8, df MASTER &1 &4 ®ifed fhar SIRm?

® MASRET

e AMTSRE

e SAMERT

¢ TERMAS
Correct Answer :-AMTSRE
4)
Question Stimulus :-

3
1—
How many pieces of length 4 meters can be cut from a roll of ribbon of length 63

3
meters? / 63 A RETF A Y | 4 M e & Ao o o o R &2

* 46

® 56

® 26

® 36
Correct Answer :-36
5)

Question Stimulus :-

40% of 250+25% of 280=50% of 240+2?/ 250 T 40% +280 HT 25% =240 HT 50%+?
(18)



® 100

® 75

e 50

® 30
Correct Answer :-50
6)

Question Stimulus :-
In a certain code language, massage is relaxing means loc pit tom, and tom jab nim means
exercise is taxing, exercise and massage means pit pon jab. Which is the word for taxing in
that code language? / foet @™ wie HmwT ﬁ massage is relaxing o1 Hddd ® loc pit tom, 3R
tom jab nim b1 Hddd % exercise is taxing, exercise and massage T Hddd % pit pon jab | 34t
PIs MW H taxing & T T Ut 82

® mot

® nim

® jab

® fom
Correct Answer :-nim
7)
Question Stimulus :-

Complete the series choosing the missing letter/s: / AT 31&R TTHI 4GAT B R BT : b _
abbc _ bbca _ bcabb __ ab

® acaa

® acha

® cahc

® cacc
Correct Answer :-cabc
8)
Question Stimulus :-

(19)



A train travels at an average speed of 50 km for 3 hours and then travels at a speed of 75 km for 2 hours. How far did the

train travel intheentire5hours?/Wa?3ﬂ%W50maﬁ3ﬁW1Tﬁ@ﬂﬁ?ﬁ%GﬁTm2ﬁ%aﬁ%ﬁﬂﬂaﬁ
Tfa & Tadt 81 QR 5 g | o fbaeit v 9o =edl

® 300 kms / 300 fpeit
® 250 kms / 250 fb#Y

e 275 kms /275 fodt

* None of these/%ﬂﬁ'@fﬂﬁiﬂ'@f

Correct Answer :-300 kms / 300 fd

9)

Question Stimulus :-
7

A man covers 3/5 of the total journey by rail 2l by bus and the remaining 6.5 kms on foot.
7

His total Journey is / T® 3TgHl (G- & a1 &7 3/5 N 2 A a9 PRl 2, 20 99 & 3R arat F
9 g8 6.5 it Uga 9a®? 79 HaT §1 IUP GRI a9 B TS $d g3l &

® 65km /65 fhdt

e 120 kms / 120 foret
e 100km / 100 feFHt
e 130 km /130 fHY

Correct Answer :-130 km / 130 oot

10)
Question Stimulus :-

In a certain code language, erp tan sib means price is rising, gov rod tan means control
rising temper, rod sib ley means cannot control price. Which is the word for temper in that
code language? / foret @ wis Hmw ﬁ, erp tan sib &1 Hddd % price is rising, gov rod tan &1
Hddd control rising temper, rod sib ley &1 Hddd % cannot control price | I Fis HoT A
temper & forT o1 Tg 82

® 20v

® fan

® rod

(20)



® sib
Correct Answer :-gov
11)

Question Stimulus :-

Complete the series choosing the missing letter/s: / AW 3f&R TABY 4TAT DI YRT BIVTT : ¢_bba_cab_ac_ab _ac
® abcbc
® acbcb
® babcc
® bcach

Correct Answer :-acbch

12)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IGC]

3Ppfd B T & o =graw J@n | fedd! et Y@ o smaxadwdar grit?

(21)



* 10
e 9
Correct Answer :-11

13)

Question Stimulus :-

A dealer is selling an article with a marked price of Rs. 1400 at a discount of 5% on the marked price. Find
the selling price of the article? / T® STURI TH a3g B IS RIfed PG 1400 FUY W 5% &1 Fe TR dgar g1
a5 & P! Yo &1 Ud1 ae?
* Rs. /30 1,426
* Rs./ %00 1,326
* Rs./¥Ud 1,226
* Rs./¥UA1,116
Correct Answer :-Rs. / 309 1,326
14)
Question Stimulus :-
Complete the series choosing the missing number: / AW JWAT TAHY FTAT BT T HIOIT :

3,69, ,15

e 10

e 13

° 12

e 11
Correct Answer :-12
15)

Question Stimulus :-

(95/5)x2-(16/2)x5-(17x2)+(80/4)=?

« 4

(22)



°* 12
®* 16
Correct Answer :-16
16)

Question Stimulus :-

If GIVE is coded as 5137 and BAT is coded as 924, how is GATE coded? / 9f¢ GIVE & 5137 &
P fHar ST § 3T BAT &1 924 T Hifed fhar oiar 2, 9 GATE &1 34 difed fHar1 S g2

® 5427
® 5724
® 5247
® 5274

Correct Answer :-5247

17)
Question Stimulus :-

In throwing of a dice, what is the probability of getting more than 4? / T UTHT THT TTI 4 9 3P T2T 3 B
T YT §2

* 1/2

* 1/4

* 1/3

°* 1/6
Correct Answer :-1/3
18)
Question Stimulus :-

Complete the series choosing the missing number: / AW JBT DR G BT TR BIOIT :

5,15,45,135,

® 455

(23)



® 395

* 305

® 405
Correct Answer :-405
19)

Question Stimulus :-

Two typists A and B are working on an assignment. A takes 6 hrs to type 32 pages and B takes 5 hrs to
type 40 pages. How much time will they take, working together on two computers to type an assignment

of 100 pages? / G TTSfURT A 3X B TH THISM UR HTH H I8 &l A 32 UH TRY H+ A 6 °HS HT I
AT 8 3R B 40 T U 31 § 5 U BT JHY BT JHY AdT 21 100 T & [HA IHIRH P <139 o4 #
& FIERN TR ATY HTH Hd gU I8 fhaIT THYT T2
° 8hr525min/8ﬁ%25ﬁ=ﬁ.’
° 8hrs/8Ei€r
® 8hrs 15 min / 8 H¢ 15 fiFe
* 7hrs 30 min / 7 9¢ 30 fiare
Correct Answer :-7 hrs 30 min / 7 ¥¢ 30 ffFe
20)
Question Stimulus :-
If 2p3 is multiplied with 3p2, the answer is / af¢ 2p3 H 3p2 A UM HY, d W SN
e 6p to the power of 5
®* 5p to the power of 6
® 4 to the power of 5
® 2p to the power of 5

Correct Answer :-6p to the power of 5

21)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / T & TS dae sreRl T AT BT THH WANT HRet 7| T WA U |

(24)



(i) SX97643250T7
(ii) SX97643250T7
(iii) SX97643250T1

(iv) SX97643250T7

® iii

® jv
Correct Answer :-iii
22)

Question Stimulus :-

How many different six letter words can be formed using the letters of the word ‘ORANGE’ if repetition is not allowed?

/ 9 TRl Srfira T8 €, 9 ‘ORANGE’ XIg % 31&RY PT UGN PP O 3aR F fpat R wg o woa 82
* 360
* 720
* 480
* 600
Correct Answer :-720
23)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 9 38 T 9R udl # ¥ e 3l T ua & e wHE B9 91 e ) 22

Hr. Niels Henriksen
Kastanievej 15
DK-8660 SKANDERBORG

DENMARK
(25)



(i) Hr. Niels Henriksen
Kastanievej 15
DK-8660 SKANDERBORG

DENMARK

(ii) Hr. Niels Henriksen
Kastanievej 15
DK-8660 SKANDFRBORG

DENMARK

(iii) Hr. Niels Henriksen
Kastanievej 15
DK-8660 SKANDERBORG

DENMARK

(iv) Hr. Niels Henriksen
Kastanievej 15
DK-8660 SKANDERBORG

DENMARK

Correct Answer :-ii

24)
Question Stimulus :-

The average of 5 observations x,x+2,x+4,x+6, and x+8 is 11,then the largest value is? / 5
&N x,x+2,x+4,x+6, 3R x+8 BT NTd 11 §, 99 A 9¢1 A 8?2

(26)



* 13

e 11

* 15

e 17
Correct Answer :-15
25)

Question Stimulus :-

In throwing of two dice, what is the probability of getting an odd sum? / Eﬁ'WWWﬂ%‘WI WHW%'&TW
3 &1 o1 $a faug d@m e

* 1/3

° 1/2

° 1/4

* 1/6
Correct Answer :-1/2
26)

Question Stimulus :-

In a certain code language, rng gat goz mpq means Integrated Rural Development
Programme, tyho rng fem means Improved Rural Economy, and mes rds tyho means Urban
Economy vitalisation. Which is the word for Improved in that code language? / ot @ T
PIS HTHT 'Bf, rng gat goz mpq HT Hddd % Integrated Rural Development Programme, tyho rng
fem &1 Hddd % Improved Rural Economy 3R mes rds tyho &1 Hddd % Urban Economy
vitalisation | I B yT # Improved * ﬁl‘l;f RIT RMogg %?

* tyho
® rng
® fem
® 9297
Correct Answer :-fem

27)

(27)



Question Stimulus :-

A successive discount of 20% & 10% in equivalent to what single discount? / 20% 3R 10% DI TMEAR Q?ﬁ)_d:ﬁ
THd P & RIS ghit?

® 22%
® 25%
® 28%
® 30%
Correct Answer :-28%

28)
Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / 9 Uy ©, T=N 4@ar § U U TAd §| Td UG G o]

3,7,11,16,19,23
° 16
* 11

® 19

Correct Answer :-16

29)
Question Stimulus :-

The sum of two numbers is 1000.If 40% of one number is equal to 60% of the other, then the numbers are / T:.Pf

T3l BT AT 1000 1 TS TH IBAT BT 40% ORI T & 60% & TSR 7, d T=IT §
® 500,500
® 400,600

* 600,400

® None of these/ 37{1?[ I aﬁé 7'|'Eﬁ

Correct Answer :-600,400

(28)



30)
Question Stimulus :-

In the sequence shown below, which figure comes next? / -1d Q@R T 4 #, 3FTel P

Ooe Yale) oas Y
o290 T 800 CO®
e s0s o0 e see
P T grfi?
{1 1 ]
L T F
ooe
[ ]
YY)
200
[ ]
*C0
*es
L 1 1 )
(2]
00
*00
soe
[ ]
Y'Y
L J T
o0e

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

Cuscuta growing on trees and shrubs is an example of / ﬂs’r 3R ngﬁcra'T R a_d?ﬁ AR foraemT Jalexul %—;
® Saprophyte / Hﬂ“ﬁﬁ
* Autotrophs / DS LT L |
® |nsectivorous / w
* Parasite / TRGIAl

Correct Answer :-Parasite / GRSl
(29)



2)
Question Stimulus :-

Find the cost of fencing a circular field of radius 35 m, if the cost of fencing per metre is Rs. 24. /W gqaddR Paa |

e 35 Wiew 81 39S ARY 3R I18 T $ AN F1d DI, TfE 918 BT YU 24 F e e 1
® Rs. 5280
® Rs. 840
® Rs. 3850
® Rs.1925

Correct Answer :-Rs. 5280

3)
Question Stimulus :-

The cube root of the product of 64 and 125 is / 64Td 125 % TUHEPA BT U1 Jd

g

° 20

e 2§

° 24

e 28
Correct Answer :-20
4)

Question Stimulus :-

Given below is the data of the sale of Washing Machine of a company in four cities during
are years. The record is based on quarterly sale. / T&% g4 & dRM IR e A fft Hu-l F1
IR W= # At B1 a1 1 o mr 31 Reid 3R et wR emenfa 21

(30)



Time of the Year/ a9 Octto Dec
Tl HHI July to {millennium
Jan to Mar (Winter | Aprilto Septemb concession)
concession) July : Haca? o
A\ A WA |t | WA
) & e | T e
TGl @l Bo) al -
Cities/ am\ [GEEEH ‘ )
\\ =
Pung /0T 522 736 419 468
Bangalare / 9Tel1Y 418 606 403 452
Delhi / feierell 714 804 721 £33
Mumbai / 7% 822 793 701 814

The turnover of Jan to March is how much more than the turnover of Oct to Dec. / SFa™} & AT &7 e+ 3fIaR, Sgar |
fewaR 7% & e & fovam1 WTaT 82

® Rs. 1194320
e Rs. 1173910
® Rs. 1198340
® Rs.1163910

Correct Answer :-Rs. 1163910

5)
Question Stimulus :-

A tangent PQ at a point P of a circle of radius 5 cm meets a line through the
centre O at a point Q so that 0OQ = 12 cm. Find the length of PQ. / 5 . B
9 ga & g P W fRya w=i ¥@1 PQ, 39 & ¥% 0 A Tor & ¥ ¥ fig Q wR fuerd & o
f% 0Q=12 4. gla1 81 aY PQ ! TS T HIvH|

® 12cm / 12 9+
e 13cm / 139H

® 85cm / 8.59H!

(31)



SJ119 em f +f11% T

JU19 em 119 2
Correct Answer :-

6)
Question Stimulus :-

What is Ignition temperature ? / Uode dTYHT KT o7

® Highest temperature reached on burning combustible material. /EET-ITZﬂFT yerd & qed WX tlg?ﬂ S dH
GIEEGIE]

® Temperature at which crackers explode without being ignited. / dTUHT o9 W yerd o= usated ﬁ?l'{
g fawwpifea 8t omd 7l

® Lowest temperature at which a substance catches fire. / <-IdH dTUHTA N R T uerd oy Ubs
o gl

® Temperature at which a combustible substance is stored. / dg dTUHTA P w Uh Eﬂ?ﬂﬁ tl'c.'TQf DI
g fopar s 21

Correct Answer :-Lowest temperature at which a substance catches fire. / <JAdH dTIHTT ISERCH U
vgrd of¥ uews T Bl

7)
Question Stimulus :-

Given below is the data of the sale of Washing Machine of a company in four cities during

are years. The record is based on quarterly sale. / Th 94 & SR TR e # frefl Hu-l Fi
IRAT A=AA F fawt 71 Se1 H & mar 31 Rets IR fawt w enenfia 21
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Time of the Year/ au Octto Dec
Tl HHI July to {millennium
Jan to Mar (Winter | Aprilto Septemb concession)
concession) July : Haca? o
i e R e I E‘WT“
) & e | T e
? bl BC) o] -
Cities/ am\ [GEEEH ‘ )
\\ w
Pune /99T 522 736 419 458
Bangalare / 9Tel1Y 418 606 403 452
Delhi / feeelr 715 804 721 735
Mumbai / 7% 822 793 701 814

How much turnover did the company receive during the period Oct to Dec? (in lakhs) / 3fdgda} 3 ﬁﬂﬁ? * ?a?l:l HUHL
gRT fooaqT edenar Ut far e (@ral #)

® 167.89
® 196.67
® 174.79
® 179.34

Correct Answer :-167.89

8)
Question Stimulus :-

How many prime numbers are there less than 20? / 20 ¥ $H f$a-l 351 G=IE 8?2

® 6

Correct Answer :-8

(33)



9)
Question Stimulus :-

The relationship between two different organisms which live together and mutually benefitted are / ?ﬁ faftre ol o

TR Sl TP 1Y T6d & SR IR arHTfad 8
* Commensalism / TgHHSTdT
® Symbiotic / TgSIal
® Parasitic / UGGl
® Predation / URHEUT
Correct Answer :-Symbiotic / Tgsidl
10)

Question Stimulus :-

What would happen when a few pieces of Copper metal is put in a beaker containing dilute Sulphuric acid ? / SId

qidT 4T & F© THS! Bl TP SIH? o adPpd TeRR® 3 § 394 STa fear Sie a9 & ghme?

® Vigorous reaction occurs and a colourless gas is liberated. / Ud¢l 3fyfear gt oz TP TR T
fage gt

® No reaction takes place. /Tﬁ'{' Srfufepar =|€r Eﬁ"ﬁl

® The mixture slowly turns blue. / firgror v Y Frer TS SITEm |

® A gas with suffocating smell is liberated. / cI U 7Y & 1Y Th | ﬁ'ﬂ’cﬁ gl
Correct Answer :-No reaction takes place. / @15 3fUferaT A8l s8Nt |

11)
Question Stimulus :-

A blacksmith hammers a hot piece of iron while making a tool. The effect of force due to hammering is / TP W,

TS IUHRUT §11 & SR dig F TP TH s &) ¥4 A Hiedl 81 TS & BRUT 9 &I YT §
® Change in volume / 3d & Ufad=
e Change in density / T-cd & uf¥ad=
® Change in shape / 3THR # Uf¥ad

® Change in mass / SoTHIA # uf¥ada

(34)



Correct Answer :-Change in shape / 3T®IR & uf¥ad=

12)

Question Stimulus :-

Which of the following is/are products of waste water treatment ? / ffgdad DI 3UFATE FTATAR H Idlq %/
2

® Biogas / MY

® Sludge / HA

® Both biogas and sludge / Mg Td Hd aT-ﬁ
® Aerator / STAdIgd

Correct Answer :-Both biogas and sludge / Mg Td 1A =t

13)

Question Stimulus :-

The length and width of a parallelogram is 100 m and 20 m, respectively. The perimeter of this parallelogram will be
= / TR IgUS Ft TS 3R TS FHER 100 Hiex 3R 20 Wex §1 39 AR agHs &1 uRka™
®* (.24 km
® (.12 km
® 1km
® 2km
Correct Answer :-0.24 km

14)

Question Stimulus :-

Organisms made of more than one cell are called / Y& J 3fie SIS A 99 Sial oI CXIRSIGI %
® Unicellular organism /Eﬂ'ﬁﬁﬁﬁﬂ'ﬂ SiC]

® Tissues / P

® Multi cellular organisms / W’q S

* Multiple organ / §g 3T

(35)



Correct Answer :-Muli cellular organisms / SHITIBIT SHq

15)
Question Stimulus :-

Which material did Robert Hooke first observed under the magnifying device during the discovery of cell? /aﬁﬁﬁ?‘l

F1 WIS F SR 9 §P 3 Amasid giaa & ded o ugrd &1 ugd Wiema forar ur
e Pollen grains / TRFTHU
® Leaf section / T SITUTT
® Flower parts / T YTT

® Thin slices of cork / Pl & gdd YT
Correct Answer :-Thin slices of cork / BIPb & Udd YT
16)

Question Stimulus :-

Silk is obtained from which of the following stages of the Silk moth ? / I9W A1y F A B9 9 R0 G IWW

e BT 82
* Pupa / TIUT
* Adult / TUTH
* Larva / WIREl

® (Caterpillar / Ec_vﬂ'

Correct Answer :-Pupa / TqUI

17)
Question Stimulus :-

An iron ball at 60°C is dropped in a mug containing water at 60°C. The heat will / 60°C B U® dig ®I T¢ 60°CH

o o WX U § STelt wrelt 8] SeAn
® Flow from the iron ball to the water. / aﬁ%ﬁﬂaﬁwﬁa@ﬂ

® Not flow from iron ball to water or from water to iron ball. / @% @t ﬂﬂ' '\Q S | 3Ydr s @ ?ﬁ% @t ﬂ?{
¥ g 9
® Flow from water to iron ball / oI 3 Fﬁ% EJ| ﬂ'c{ o E%Tﬁ
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® |ncrease the temperature of both water and Iron ball / STd Gﬁ?’ ?ﬁ% I 'PIT:." a:ﬁ Dl diu dal a’fﬁ

Correct Answer :-Not flow from iron ball to water or from water to iron ball. / ﬁ% | ﬂ?{ J S H 3fyar

o ¥ @ @t Ag # 78 gt
18)

Question Stimulus :-

The value of sin @ and cos 6 when the angle 6 is 0=8= goﬂ’, is / sin O T4 cos O &1

WIWWOWULJEEQD’; |
* positive till © = 45° and then negative / 0 = 45° T YFTHD ITP 9l BUNTHD
* always positive / Tcd YTHD
* always negative / Tcd BUTHS
* negative till © = 45° and then positive / 0 = 45° T&% BUNTH® ITP dIG YFTHS
Correct Answer :-always positive / Hed Y_THD
19)

Question Stimulus :-

Given below is the data of the sale of Washing Machine of a company in _fqur cit[es during
are years. The record is based on quarterly sale. / T% ¥ & R IR g § bl Hu-l &1
aIRAT A=A Ft fawt o1 Ser i f&ar mar 31 Rets Faiiie fawt w enenia g1

Ny e
Time of the Year/ Tt Oct o Dec
July o {millennium
Jan to Mar (Winter April to Septemb concession)
concession) July or STATS HFTAT T
AT ¥ A | ade & N
B g | e
Cities/ 2M6¢ SREEN )
B
Pung /9oT 522 738 419 488
Bangalore /& aTeliT 419 608 403 452
Delhi / et 15 804 721 735
Mumbai / Has 822 793 701 814
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What is the percentage of the refrigerators sold during July to Sept quarterly? (approx) / ﬁmg T Rawrr foust Cg a?F-[
I T IfpoiveR) BT UfARTd FT 82 (THTHT)

® 19.9%

® 239%

® 20.3%

® 22.1%
Correct Answer :-22.1%
20)

Question Stimulus :-

How many lines can pass through a given point? / f&t Ry fig @ fra Y@t 1ok awdl §2

® infinitely many / 3=
Correct Answer :-infinitely many / 3A=d

21)
Question Stimulus :-

Earthquakes which are destructive are those whose magnitude on the Richter scale is / a

YU e 81d & Reer ulear e R w8
« greater than 5 / 5 3 3iftr®
« greater than 7 / 7 9 3ift®
 greater than 9 /9 T 3fere
* less than 6 / 6 q HH
Correct Answer :-greater than 7 / 7 3 3iftres

22)

Question Stimulus :-
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Given below is the data of the sale of Washing Machine of a company in four
cities during are years. The record is based on quarterly sale. / Qﬁ)‘ﬂ'@% ﬁ?‘ﬁ
mmﬁ%ﬁwwﬁaﬁﬂmﬂqaﬂﬁaﬂméﬂﬁﬁmw%l Rois Iy fawt =
MYTRT B

wme of the Year/ ot A
Dl THT July to {millennium
Jan to Mar (Winter April o Septemb concession)
concession) July or W AL T
SHaq O A | d¥E W FreEa
wrage | g | o\ o
SRiTa |
Cities/ 26T ® [EER | )
g
Pune /90T 522 736 419 469
Bangalare / 4316l 419 506 403 452
Delhi / feeeir 715 04 721 735
Mumbai / 7% 622 793 701 214

What approximately is Mumbai’s contribution in the annual sale? / arfe faw & 'Elﬁ'sc Ca) 'CﬁTIE'FT U fpar

® 27.8%

® 33.3%

® 30.9%

® 31.5%
Correct Answer :-30.9%
23)

Question Stimulus :-

Given below is the data of the sale of Washing Machine of a company in four cities during
are years. The record is based on quarterly sale. / T& 99 & ERM IR 3 A [t HU=T I
IIRAT A=iA F fawt o1 Se1 1 & mar 31 Rets AR fawt w enenia g1
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Time of the Year/ a9 Octto Dec
Tl HHI July to {millennium
Jan to Mar (Winter | Aprilto Septemb concession)
concession) July : Haca? o
A\ A WA |t | WA
) & e | T e
TGl @l Bo) al -
Cities/ am\ [GEEEH ‘ )
\\ =
Pung /0T 522 736 419 468
Bangalare / 9Tel1Y 418 606 403 452
Delhi / feierell 714 804 721 £33
Mumbai / 7% 822 793 701 814

The number of refrigerators sold during the quarterly period of winter concession were how many more or less than those

of millennium concession period? / ﬂ?ﬁ B1 vc | ﬁl’q'l'bpf 3afdr & aTF-T

3G & IR T= A fha-t sife a1 &9 ot

® 12less / 12 PHH

e 3 more / 3 3®

* 9 more /9 3P

e 21less / 21 %H

Correct Answer :-9 more / 9 3iftf®

24)

Question Stimulus :-

99 T ¥fFeReRl @t TB et ge

A sum of money at compound interest amounts to Rs. 5,290 in 2 years and to Rs. 6,083.50 in 3 years. The rate of

interest per annum is: / T UIRIRI ThHgfex TS U 2 981 # 5,290 $UY T4 3 a0l # 6,083.50 FUT BidT Bl

wfdad &I @1 R &
®* 1.2%
® 15%
® 18%

®* 16%
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Correct Answer :-15%

25)
Question Stimulus :-

The basic structural and functional unit of all life form is / T3 siiad ¥ul B gaI TATHS 3R

TP TPTS ©

e Cell / DITRTHT

® Tissue / P

® Organ /3

® Organ system / 37T WUTTeNl
Correct Answer :-Cell / BT
26)

Question Stimulus :-

Why is it not advisable to sleep in a room with burning coal inside the room ? / P | STad 8¢ PIOA & TATY

T & 3R e R
® Because it may lead to fire breaking out. /?ﬂ’f% Wﬁ' 3T & Thdl %l
® Lot of carbon dioxide will be formed . / Pra- @Eaﬁﬂ'\‘l'lﬁ &1 U= ¥ ¥ fAmior 'Ea;']Tﬂl
® Too much heat energy will be released. / i ST It ﬁ'{{ﬂﬁ T;ﬂ'fﬁl

® (Carbon monoxide gas may be formed which, if inhaled, is found to be very poisonous. /?FITS[:I'

HHreiiaarss 19 @1 fowior g 9oar 8 o afe Yy ot S @ 9ga faoeh arft w=it g1

Correct Answer :-Carbon monoxide gas may be formed which, if inhaled, is found to be very poisonous. /

HIa AAISHTRITES 19 1 f~aior g woar @ o) afe iy &) 9e at aga fated it mh 21

27)
Question Stimulus :-

log 52 = 0.3010 o
=10 .’ then log‘lﬁ

gl

. log 52 = 0.3010 .
If is / afe 02 15 a log,10

® 0.3322

® 3.2320
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® 33222
e 5
Correct Answer :-3.3222

28)

Question Stimulus :-

Which of the following can be used to form a real image / g 7a CAE| ardfae ufafds 99 & v § |
ST el 8

® Concave mirror only / THHTA ddd E'd'UT

® Plane mirror only / THHTA HHIA o

® Convex mirror only / THHTA 3Tl E{'fUT

® Both concave and convex mirrors / Sdd qa Sfdde E&UT Eﬂ:ﬁ
Correct Answer :-Concave mirror only / THHIA 3ddd gduoT
29)

Question Stimulus :-

The pressure exerted by man on the earth is minimum when he / qza’ﬂ U HG™ gIRT AT AT qld <AdH gran
AR

® Stands on his feet / T TR W) osT @Tﬂ %
Sits with folded legs / 'ﬂé’ 8¢ WY & 1Y s&d1 %
® Sleeps on the ground / SHIE W T %

® Stands on one foot / Wﬁ?‘ﬂ@?ﬂﬁ?ﬂ%

Correct Answer :-Sleeps on the ground / STHIF TR Il @

30)
Question Stimulus :-

A, B, C invest Rs. 20000, Rs. 30000, Rs. 40000 in a business. After one year, A
withdrew his money but B and C continued for one more year. If the net profit
after 2 years be Rs. 32000, then A’s share in the profit is: / A, B, C A T&% IR &
U 20000 FUT, 30000 IUT, 40000 FUT A% fHharl Tw 9 & ugrq A = IAD! AR a9 o o =g
B T4 C 3 T® 3R a9 & forw fd=r ol v | afe g af ugyrq Ae @ 32000 =T g, @ @14 H A BT 30 8
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® Rs. 6000

® Rs. 4000

® Rs. 8000

® Rs. 5000

Correct Answer :-Rs. 4000
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